IRWUS Q& ST TS UfRiermr alkee, <t

MODEL SET (HISd I¢ )
CLASS-XII PHET - XII
SUBJECT : MATHEMATICS fawg - 7iford
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EXAMINATION YEAR - 2023 TRY&l &7 98 — 2023
Time-  1.30 Hrs G -  1.30Hrs
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General Instructions (HTHT ﬁﬁ'ﬂ ):

1. Candidates should answer in their own language style as far as possible.

et Uiy gt HIYT- A A IR S |

2. This question paper has three sections. For example- A,B,C. From all sections answer
according to instructions.

YUY UF & dI TS ¢ | TUT: 5,87, | ot Te q AR usii & IR < |

3. The total number of questions in section ‘A" is 07. Answer any 05 of them. Each question
from this section is of 01 mark.

@-s’;ﬁu&ﬁﬁgﬁrmm%(q&rm 9 07)1 399 T fasgl 05 Ul o ¢ | 39 WS ¥ TS UH 02 3l
F1e |

4. The total number of questions in section ‘B" is 07. Answer any 05 of them. Each question
from this section is of 03 marks.

TE @ T Ul & Hd BT 07 § (IF 08 T 14) | T9H J fH5f 05 U F S| S | 3T TS I AP Uy
03 3FHHE |

5. The total number of questions in section 'C' is 05. Answer any 03 of them. Each question
from this section is of 05 marks.

G‘s"ﬂ'gmﬁﬁgﬁrmos%’mmﬁm)l 0 9 forgl 03 Ul HITR € | 34 TS W YD UH 05
3H BIE |

Section-A (@€ -¥) (2% 5=10)

1. If £(x) = 8x3and g(x) = x /3, find gof (x).
TR f(x) = 8x3 7 g(x) = x /3,90 gof (x) = F |

2.  Provethat (frg #%):tan™! % +tan~?! % =tan~!

N |

g D i a2
3. Find e If y = sin(x“ + 5).
d
a7 y =sin(x? +5) 4r d—z AT )

4, Find the rate of change of the area of a circle with respect to its radius ‘r’ when
r = 4cm.
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10.

11.

12.

13.

14.

A F AARA [ TGAT I ¢ TG HAT 6 GI9e A1q Do Ifd B=ar r = 4em
2l 1.2

Evaluate (ATF SITd BIFST): j—(\/z—\/—;> dx.

If a line makes equal angle with the x, y and z- axes, find its direction cosines.

Ife UF @1 X,y ¥ z-9eT & AT ATHE FHO FAE @ AT THO! (QH-HEEd AT
Frfora

Evaluate P(4 N B), if 2P(A) = P(B) = 5/13 and P(4/B) = 2/5.

P(A N B) w3 fifkrafy 2P(4) = P(B) = 5/13 &= P(4/B) = 2/5.

Section-B (@S-9) (3 x5 =15)
By using the properties of determinant show that (FT<fr® F TUred & TINT FF
g fifm):
1+a 1 1 1 1 1
1 1+b 1 =abc(1+—+3+—)
1 1 1+4c @ ¢

Test the continuity of the following function at the point x = 0,

Fraferfe) wo F Arger & 9= g x = 09w

sinx
—,x <0
ﬂm={x
x+1, x>0
3x+5
Evaluate (A9 SITa@ HIfSTQ): j ad dx.
x3—x2—-x+1
/2 Vsinx
Evaluate (AT9T ST $IfTQ): dx.

o Vsinx ++/cosx

Solve(ger #%): ydx — (x + 2y%)dy = 0.

If @ =2{+2j+3k b =—1+2j+kand€ =30 +jaresuchthat@ + b is
perpendicular to ¢’, then find the value of A.

AR @ =20+2/+3k b =—1+2j+k dvC=304+] m wrEF T +1b,C
I A g, AAA F A AT HIe

Suppose a girl throws a die. If she gets a 5 or 6, she tosses a coin three times and
notes the number of heads. If she gets 1, 2, 3 or 4, she tosses a coin once and notes
whether a head or tail is obtained. If she obtained exactly one head, what is the
probability that she threw 1, 2, 3 or 4 with the die?
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15.

16.

17.

18.

19.

A A AT Fle A0l TFH I0E7 Il gl I« IH 5 AT 6 0 §&AT I grarl g af
Ig TH ¥ F 9 q I[JraAar g i ar A g T qie #@dr gl Jfe 59 1,2,397
4 #F HEAT UTH Bl g a7 9g UH Heh F UF a1 IEdl g A Tg A wl g &
9 9 @ AT 9 YT el Afe S AT uE Ha W gar € v SEd g0 Serd U
IE " 9T 1,2,3 AT 4 UTH B AT ATEHAT FT 82

Section-C (@IS-9) (5x3 = 15)

Solve the following system of equation using matrix method.
) ATE AT AN w2 [uftag g6/ [ &7 ga )
S5x+3y+z=16
2x+y+3z=19
3x + 2y +4z =25

Find the maximum and minimum value of the following function

% woq Fefofed) stfesman qom ~Aaq a9 ST w
f(x) =2x3— 15x% +36x + 11

Find the area lying above x-axis and included between the circle x? + y2 = 8x and
inside of the parabola y? = 4x.

X-FF F FAL JAT g9 x2 + y? = 8x U AT y? = 4x F weAadi & F G
EARA o

Find the shortest distance between the following lines:

T =1+42j— 4k + A(21 + 3 + 6k) and 7 = 31 + 3j — 5k + u(21 + 37 + 6k).
e el @ drd @ <gEEH g9 ST AR

T =142]—4k + A2 + 3] + 6k) 3R 7 = 31 + 3j — 5k + u(21 + 3] + 6k).

Solve the following LPP graphically:

Maximize Z = 50x + 15y
Subject to constraints:
5x+y <100
x+y <60
x,y =0.
merdry fafsy & =1 YRaw I e TR BT ' DITT:
Z = 50x + 15y 3MfEHTHIGRT HIfoT,
Sdfdb 5x +y < 100
x+y<60
x,y = 0.
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SUBJECT : MATHEMATICS fawa - Tfora

PART-| : OBJECTIVE URT - | agE

EXAMINATION YEAR — 2023 & T T - 2023

Time- 1.30 Hrs JHT - 1.30Hrs
Marks : 40 3P : 40

General Instructions (9T A= ):

1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty and Name of
the Subject on the OMR Answer Sheet in the space Provided. Put Your Full Signature on the OMR
Answer Sheet in the space Provided.

MY e o1, AT BIS, NgHAID, Uollee I, udem ot fafrureh, fyamor qen v &1 a7 OMR 3w

Uz # &t o8 ofere W ot 3 e gRr &g OMR 3IWR-Usis # & 91F oielE W ® |

2. There are 40 Multiple Choice Questions in all.

g 40 ag-fasedr e F|

3. All questions are Compulsory. Each question carries 1 mark.

Fef uear iferard E 1 UA® U 1 3id B B

4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ *] in the OMR Answer Sheet given separately.Use only Blue/Black

Ball-Point Pen. The use of Pencil is not allowed.
TE U # TR ey R o ) gad F IAo¥ Iugw Rdew goae 3 s ¥ Y gv OMR 3w

UAFG U AE Mt BN Hell HT [ ¢] IR B Jfaa BT | Nell A1 FHlell Ac-Wige BAA BN & YT B |
URrer &1 wer afofa 21

5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You are
allowed to take the question paper with you.

T odel Bise A Ul OMR 3TR Usiep dieies i citer Siforl | U9a-usl 3N 319d A1 o o Jebd & |

Adhere to the instructions above very carefully otherwise your OMR Answer Sheet will be
invalid and will not be evaluated.

SR affa Frdell & eaeyde Ureer BT 3eTem 3MuHET ITR UAG AT BN AR IFB ST Fét
B el |
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1. Let A={2,4,6,8} and R be a relation defined on A as R= {(2,4), (4,2), (4,6), (6,4)}, then R is

a) reflexive b) Symmetric c¢) transitive d) None of these
A f5 A ={2,4,6,8} 721 R ={(2,4), (4,2), (4,6), (6,4)} ¥9==a A & uR¥I¥T t& Heel & a1 R &
a) [Wge b) w=faa C) HshTHH d) s & @iy Tl

2 . IfA={a, b, c}and R={(a,a), (a,b), (a,c), (b,c)} be arelation on A, then R is
a) Reflexive  b) Symmetric c¢) Transitive  d) None of these
afs A={a, b, c} @ R={(aa), (a,b), (&), (bc)}) AR v Hag 2 AT R & |
a) [Wge b) w=faa C) HshTHH d) s & ®ig Tl
3. The function f:N = N defined by f(x) = 2x is
a) One-one but not onto
b) One-one onto
c) Onto but not one-one
d) None of these
% f: N> N @ aRarfva g f(X) = 2xar f 21
a) TS offdh IMeeIed ol
b) td® BEH
C) 3IBIGH olfchl Ybdh ol
d) s 9 318 T
4. If R being the set of all real numbers, then the function f: R — R defined by f(x) = [x] is

(a) one -one only
(b) onto only
(c) neither one-one nor onto

(d) both one-one and onto

Ife R arafas dveamsit o ageaa 8 91 Bed R > R, f(x) = |x| grr oRwfya 2 & f 2

(@) I BB

(b) Hacl ITBIEH

(©) T Uhd T ATBIEH
(d) Udhd Td ATBIEHh QAT

5. If f : R> R, defined by f(x) = 2x+7 then £~ (x) is
Ify f: RDR, f(X) = 2x+7 grr aR¥ifda & a1 f~1(X) &1 7191 8 |

a) =7 b)7x-2 0= d)=L
6.) Cos‘l%§ + Cos‘% is equal to
Cos'1?+ Cos‘% IR 2 |
a) 0 b) = €)% d) =

7.Sin [tan‘l(—\/§) + cos™? (— ‘/5)] is equal to

2

Sin [tan_l(—\/g) + cos™?! (— g)] TR &

a)l b) -1 c)0 d) None of these (57 &1 @15 -151)
8. %Cos‘1 (E) x € [0,1] is equal to
1 1 (1-x
ECOS (E)' x € [0,1] TR B
a) Sin™Vx b) 2Cos™V/x ¢) tan™Vx d) 2tan™/x
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9. tan’'= +tan |sequal to

tan™L + tanZ w2
4 9

a) tan'11 b) tan'li3 c) tan'lg d) tan"'7
X 7 14 .
10. If 2[ 3] [ 15 14] then values of x, y are respectively
34 7 14 —
ﬁ2[7 y— 3]+12 15 14] T Xy 7 P T
a)29b)92c)29 d) -9, -2
11. IfA = ; i and B = [ ]then AB is equal to
1 3]
af A= [_271_62418—[_11]6ﬁABW%"
ol ol e[eur
12, IFA = é i then (adjA) is
12 :
afe A= [3 4]6# (adjA) &

) ol w7 ol o5
13. Points (a,0), (0, b) and (1,1) are collinear if

a)l—lzl b)l—izl c)1+1:1 d) None of these
a b b a a b
fag (a,0), (0, b) wd (1,1) &¥= &, afe
) L-1=1 b)1—2=1 Oc+y=1  d)wr & o 7
14. Given function f(x) = |x — 2| is continuous but not differentiable at

a)x=0 b)x=2 c)x=-2 d) None of these
feam ar wem f(X) = |x — 2| Had & Ry sradery g R |

a)x=0 b)x 2 c)x=-2 d) s & P18 Tl

15.) If y = Sin® then Y is equal to
tr%y—SmXFﬁZiW%
a) 3Sin2x b) Cos3x ¢) 3Sin?x.Cosx d) 3Cos?x. Sinx
_ -1 1-x2 d_y .
16.If y = Cos (1+x ) 0<x<1 then —=is
ARy = Cos™ (1= ) O<x<1d 2 iy 23
2 -2 1 —1
a) 1+x2 ) 1+x2 C) 1+x2 ) 1+x2
17.) If x+2y = tanx then = is
afe x+2y = tanx Z—z%\‘
a) tanx b) Cot?x

tan®x ,\ sec’®x —1
)= D
18. If xy = x3+y* then |s equal to

uﬁxy—x+y ?‘ﬁdxﬁl?'l—sl?%
a) £2Y py 3y ¢) X3 d) None of these (g7 & @1$ )

x—y?2 x—3y?2 x—3y2
19. Slope of the tangent to the Curve xy = 6 at (1,6) is
b Xy = 6 & fag (1,6) W w2l Y@ 9 o ®
a) -6 b) 6 0) < d) —=
20. Slope of the normal to the Curve y = x> — x at x =1 is
ab Yy =X —X B fag X =1 W aAficig B yqorer §
a)-1 b) 1 c) -2 d)2
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21 [— ___ isequal to -

sin? x cos? x

fd—xwa -

sin? x cos? x

a.tanx + cotx + C b.tanx — cotx+ C

c. tanx cotx +C d.tanx — cot2x + C

sm X COS X
22. dx isequal to :-
fsmzxcosz q

Pn 2
fS”,l ZX CO: xd W%

Sin“ x cos
a.tanx + cotx + C b.tanx + cosecx + C
c. —tanx + cotx+C d.tanx+ secx +C

dx

23. fmdx is equal to :-

| g TR -
a.xtan l(x+1)+C b.tan"!(x + 1) + C
c.(x+1Dtan"tx+C d.tan"lx +C

xdx .
24, fm equals to :

[—2 R T -

(x-1)(x-2)
_ 92
a. log| =X ” |+ C b. log| 2= | + ¢
c.log C)? | +C d.log|(x —D(x—2)| +C
25. ff
V3 dx TR
fl 1+x2 % -
a.z b. 22 .= d. =
3 3 6 12
. . . 2d%y dy -
26. The order of the differential equation 2x oz 33 +y =0is:-
a.2 b.1 c.0 d. Not defined
24y qdy
3T FHIPRT x2 == — 32 =0PIPICT :-
a.2 b.1 c.0 d. ORI

Jharworld.com



27. The degree of the differential equation ( 73 + ( )3 + sm + 1=0is:-
a.3 b.2 c.1 d. Not defined

Sfaee aefieor (LY ( )3+sm X +1=0PIUCE -

dx? )

a.3 b. 2 c.1 d. 3MaRHIT

28. Solution of the differential equation Z—z =e
ay=e*+C b.y=e™+C c.x=eY+C d. None of these
ST FHIHRO L = e* FIEAE -

ay=e*+C b.y=e™*+C c.x=eY+C d. TR Y HIs T8

30. The projection of 1+ 3j +k on2i— 3j + 6kis :-
1+ 3f +k @1 21— 3j + 6k WUAUS :-

b. — c.7 d.—7
7

Q
N

31.1f |d|=3,|b|=4and |d+Db | =5thenthevalue of | — b | is :-
gfe|d|=3,|b| =47 |d+b|=5q|d—b | PTAARG :-
a.6 b.5 c.4 d.3

32.fdxb=0andd .b= 0, then choose the correct option in the following .

gEdxb=0aU d .b=0, AT AT T HYT I |

S
Il
o
o
Qu
S
Il
o

ad Llb b.dll b c.d =0and =0or
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33. The direction cosine of the line joining (1, — 1, 1) and (—1, 1, 1) are :-

1 -1

a. 2,—-2,0 b.1,—-1,0 c.ﬁ,ﬁ,o d. None of these
fagaft (1, — 1, 1) AU (—1, 1, 1)@ FAemare a1 &t fow- S g -

a. 2,-2,0 b.1,—1,0 c.%,:/—;,o d. 3T I BT T
34. The equation of Y- axis are :-

a.X=0,Y=0 b.X=0,Z=0 c.Y=0,YZ=0 d. None of these
y-G{&fWﬂ'mW%l-

a.X=0,Y=0 b.X=0,2=0 c.Y=0,YZ=0 d. STH Y DIs ol

35. The distance of the plane 2X - 3Y + 6Z + 14 = 0 from the origin is :-

o g I THAA 2X -3Y + 62 + 14 =0 DI G 5 :-

a.2 b.4 c.7 d. 11

36. If Aand B are any two events such that P(A) + P(B) — P(A N B) = P(A), then choose the correct
options from the followings .

gfe AquTB A geE § B P(A) + P(B) — P(ANB) = P(A), A FE AT BUT T |
a.P(f)=1 b. P(g) =1 c¢.P(C)=0 d. P(g) =0

37.1f Aand B are two events such that P(A) = 0.4, P(B) = 0.8 and P() = 0.6 then P(5) is equal to :-
afe A qo B 21 Tt ge @ 6 P(A) = 0.4, P(B) = 0.8 AT P() = 0.6 T P(;) TRISR & -

a.0.3 b.0.4 c.0.5 d.0.6

38. A dice is thrown 6 times . If  getting an even number ‘ is a success then the probability of getting

5 success is :-
3 7 63

a.— b. — c.— d. None of these
32 64 64

TS U1 6 IR Thepl ST 8 | e T gH TS 3111 * Iheddl 81, af 5 IR IherdT fob Ui & -

a.— b. — .o d. T Y BT T

32 64 64
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39. A chance of getting doublet with 2 dice is :-

AU P B H Siel UM fob Wil § -

d.—

b.
36

w N
o R
oln

a. C.
40. Let A and B are two events such that P(A) =§, P(B) = % ,P(ANB) = % , then P(g) is equal :-
AT % A 3R B &1 wieTd § arfdp P(A)=§, P(B)=%, P(AN B)=§,a‘rp(§)wéz-

b. d.

N
vl w
SEES

C.

(SRR

a.
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